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Automatic groups Z2

L = (x˚ Y X˚)(y˚ Y Y˚)eω

generator x is (X, e) ¨ ¨ ¨ Y (x, x)˚(y, x)(y, y)˚(e, y)(e, e)ω Y ¨ ¨ ¨



Automata groups The adding machine Z = xty
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Gray code, D∞ = xa, uy

generators a, u are a 1u
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Automata groups The adding machine Z = xty

generators a, u are a 1u
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The Grigorchuk group G = xa, b, c, dy
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Automata groups The Basilica group
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Automata groups The Basilica group
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Substitutional subshifts The Fibonacci subshift
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Substitutional subshifts The Thue-Morse subshift
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Substitutional subshifts A simple group of intermed. growth
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